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QUESTION 1

What value will be displayed in Concatenated Array indicator when the VI completes execution?

NJ] Loap 1

132 |Concatenated Array

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A
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QUESTION 2

What is the value in Shift Register Answer after the following code has executed?

E._

seyiskEr Answer

]

A. 16
B. 24
C.32
D. 10

Correct Answer: C

QUESTION 3

Which of the following methods will create an XY Graph with two plots?

A. Create a single cluster from two arrays of X values and two arrays of Y values in an X, Y, X, Y pattern.
B. Bundle the X and Y array pairs together into two clusters and then create an array of these two clusters.
C. Bundle the X and Y array pairs together into two clusters and create a cluster of these two clusters.

D. Create a single array of each of the X arrays and Y arrays in an X, Y, X, Y pattern.

Correct Answer: B

QUESTION 4
Which combination of words correctly completes the following statement?

Unlike , Which display an entire waveform that overwrites the data already stored, update
periodically and maintain a history of the data previously stored.

A. Graphs; Charts

B. Charts; Plots
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C. Plots; Graphs
D. C harts; Graphs

Correct Answer: A

QUESTION 5

Which of the following statements is NOT valid?
A. You can make a Cluster of Clusters.

B. You can make an Array of Arrays.

C. You can make a Cluster of Arrays.

D. You can make an Array of Clusters.

Correct Answer: B

Latest CLAD Dumps CLAD VCE Dumps

VCE & PDF https://lwww.geekcert.com/clad.html
2024 Latest geekcert CLAD PDF and VCE dumps Download

Latest CLAD Dumps | CLAD VCE Dumps | CLAD Practice Test

CLAD Practice Test

414


https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html
http://www.tcpdf.org
https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html

